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Corollary If f'(x) = g'(x) for all x in an interval (a, b), then f — g is constant
on (a, b); that is, f(x) = g(x) + ¢ where c is a constant.
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[i] Theorem If F is an antiderivative of f on an interval /, then the most general
_7 antiderivative of f on [ is

F(x) + C
where C is an arbitrary constant.
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(2] Table of
Antidifferentiation

Formulas

To obtain the most general antiderivative
from the particular ones in Table 2, we
have to add a constant (or constants), as
in Example 1.

Function Particular antiderivative Function Particular antiderivative
cf(x) cF(x) coS x sin x
f(x) + g(x) F(x) + G(x) sin x —cos X
( 0 ¥ X" sec’x tan x
x"(n # —
n+ 1 sec x tan x sec x

\
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48. The graph of the velocity function of a particle 1s shown
in the figure. Sketch th
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60. Show that for motion in a straight line with constant accelera-
tion a, initial velocity v, and initial displacement s, the dis-

placement after time 7 is

1
s = §a12 + vot + 8o

( &(t\ = O . V'(t\ = Ok(t\ = V(,t’) 1y Ao of O.(t\
v, = ot + C
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63. A stone was drojf)ped off a cliff and hit the ground with a speed
of 120 ft/s. What is the height of the cliff?
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65. A company estimates that the marginal cost (in dollars per
item) of producing x items is 1.92 — 0.002x. If the cost of
producing one item is $562, find the cost of producing 100
items.
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